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EEIEE 66,016, 918
B - At (-8m) 66,016, 918
BT 37, 554, 954
DI BET 37, 554, 954
W Aggs 37, 554, 954
1 R0 ELE NE30~L0KE KiFE15mEKH 2,023.00 5,998 12,133,954
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2 EE LK 2 LEREYULFE NE3O~L0KE KEISmkKE 4, 640. 00 5, 260 24, 406, 400
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3 TS THEMELER) MK $D 5.5m3 1.00 1,014, 600 1,014, 600
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T 28, 461, 964
TEMERT 15, 664, 333
TEMER 15, 664, 333
4 TEMER ) Wit EM #HD650m3 (EFI) 2,023.00 2,571 5,201,133

m3
5 TEMHENR (2) L ER $ED650m3 (BERt) 4, 640. 00 2,255 10, 463, 200

m3
BXLeT 12,797, 631
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8 HEEHMiER $iHD 100t (6. Om3n" fyb) 1.00 385, 100 385, 100
=
HERRE GEL) 21,367, 963
HERER 21,367, 963
HBERERE 21,367, 963
Ef - ZVE 4,894,702
= 4,894,702
9 EffiE (1) L EM (ZRAC) 650m3 Q€51 F) EHikE~ AT 1.00 2,447, 351 2,447, 351
(R &
10 Efn# (2) L& (BRI 650m3 2€51E)  RIFE~ER 1.00 2,447, 351 2,447, 351
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EREXHIEERE 10, 098, 000
KEF A IER 10, 098, 000
11 EEMERRE ) 20m x 20m (i 3 AR) 1.00 1, 040, 000 1, 040, 000
#
12 FAMEREE ) 20m x 20m (i 3 AR) 1.00 870, 000 870, 000
#
13 BEMERENE () 20m x 20m H=11m (;& &£ #2) 1.00 4,380, 000 4,380, 000
=
14 FAEMIERRE (2) 14mx 14m GEEE HfR) 1.00 930, 000 930, 000
#
15 FAEMEREE 2) 14mx 14m GEEE HfR) 1.00 820, 000 820, 000
#
16 &G EREBENSE () 14mx 14m H=5m (&2 E 1) 1.00 2,058, 000 2,058, 000
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18 RELEEM (2) BAEER (T IEARSE) 1.00 1,833,085 1,833,085
=%
19 REBEHM Q) BIKIEER 1.00 244,157 244,157
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20 &4z 29.00 5, 445 157,905
=
21 BKEE —REFE 13, 050. 00 147 1,918, 350
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22 MEZER 1.00 94,017 94,017
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23 ¥BHER 1.00 73, 000 73, 000
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KE - BEZREH 48, 862
KEREHE 37,953
24 KEREH 1) 52 DM (FELA2FA) $AD5. 5m3 x 1£ 1.00 10, 682 10, 682
=%
25 KEREKRH (2) AT IEM $H650m3 (ZEEIX) x 2 & 1.00 9,090 9,090
=%
26 KEREH Q) KM DISOPSE! 3~5tf x4& 1.00 18, 181 18, 181
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GERBEH 10, 909
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B 1.00 1,797, 406. 00 1,797,406 6.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 243,912.00 243,912/2.00H / 8H
MR EXENOY
% 0.50 2,041,318.00 10, 206
& B YEZERES : 342.00m 3 5,998. 00 2,051,524
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A ELREEER Q) LXEYIH NE3~L0kKE KFE15mEKE 1B&Y (390m 3)
2 b g - BIRTE By = BHO(f ® W E " =
55 JREMEELER) (R/8y FX) #/D 5. 5m3
B 1.00 1,797, 406. 00 1,797,406 6.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 243,912.00 243,912/2.00H / 8H
MR EXENOY
% 0.50 2,041,318.00 10, 206
& B YEZERES : 390.00m 3 5, 260. 00 2,051,524
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2 b g - BIRTE By = BHO(f ® W E " =
55 JREMEELER) (R/\y FX) #/D 5. 5m3
B 1.00 865, 300. 00 865, 300 #tH
S (U S TgEMm(R/Sy FR)) $MD 1200PSE!
B 1.00 149, 300. 00 149, 300 #tA
& Hi 1E%Heh - 1.00K 1,014, 600. 00 1,014, 600
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& LEMER () HRTEM #HD650m3 (FEEX) 1TAHY (342m3)
2 b g - BIRTE By = BHO(f ® % W = " =
TERR () $M650m3%E (ZEA)
B 2.00 239, 250. 00 478,500/ 10H
i £MD 1300PSZY
B 1.00 396, 720. 00 396, 720 4.00H / 10H
MR 2E0%
% 0.50 875, 220. 00 4, 376
& B 1E%HESH : 342.00m 3 2,571.00 879, 596
F5 .5
& LEMER () HRTEM #HD650m3 (FEEX) 1TAHY (390m 3)
2 b g - BIRTE By = BHO(f ® % W E " =
TEMR () $M650m3%E (ZEEA)
B 2.00 239, 250. 00 478,500/ 10H
i £MD 1300PSZY
B 1.00 396, 720. 00 396, 720 4.00H / 10H
MR ELNOY
% 0.50 875, 220. 00 4,376
& B 1E%HEH : 390.00m 3 2,255.00 879, 596
&S .6
£ TREBAN) EEH#R 1TBHY (342m3)
2 b g - BIRTE By = BHO(f ® % W E " =
EEE M GEfEE) $AD100t &
B 1.00 576, 358. 00 576, 358 2.00H / 10H
B (ME T HELEEE) $MD5t F
B 1.00 117,122.00 117,122 8H
MR EXENOY
% 0.50 693, 480. 00 3, 467
& B 1YE%HESH : 342.00m 3 2,037.00 696, 947
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B IWEBAQ) EEHMH THZY (390m3)
% L R - Bk B = B ® % W E w &
AEE A GEfALEER) $HD100t A
=] 1.00 576, 358. 00 576, 358 2. 00H / 10H
Bt (MEEHLLEES) $HD5t
=] 1.00 117,122. 00 117,122 8H
MR DY
% 0.50 693, 480. 00 3, 467
& B 1EZE8EH - 390.00m 3 1,787.00 696, 947
£#5:8
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AEE A GEfAEER) $HD100t A
=] 1.00 342, 200. 00 342, 200
Bt (MEEHLLEES) $ED 5t
=] 1.00 42, 900. 00 42,900
& Bl 1E%X8ED - 1. 00K 385, 100. 00 385, 100
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B ERME () FHLER GBI 650m3 Q&5 E)  EE~BIFFHE () TEHHY
% L R - Bk BT = B ® # W E w =
= 1.00 360, 000. 00 360, 000
BiRE
= 1.00 696, 511. 00 696, 511
B
= 1.00 1,375,110. 00 1,375,110
R
= 1.00 15, 730. 00 15, 730
& Bl 1E%8E - 1.00[E 2,447, 351.00 2,447, 351
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BEE
= 1.00 360, 000. 00 360, 000
EX T
= 1.00 696, 511. 00 696, 511
B
= 1.00 1,375, 110. 00 1,375,110
Elf R & F
= 1.00 15, 730. 00 15, 730
& Hi 1YEZHEH - 1.00[E 2,447,351.00 2,447, 351
&5 11
B BEPIEHERE (1) 20m x 20m GRIEM) 18 LY
2 b g - BIRTE By = BHO(f ® # " =
B IERERE BE LY L—2sAd (#5120 x 20miR)
= 1.00 1, 040, 000. 00 1, 040, 000
& Hi 1E%HEN - 1. 00& 1, 040, 000. 00 1, 040, 000
&5 .12
B BEBIEEHERE (1) 20m x 20m GRIEM) 1E4Y
2 b g - BIRTE By = BHO(f ® # " =
EE RS BE LY L—2sAd (#5120 x 20miR)
= 1.00 870, 000. 00 870, 000
& Hi 1E%Heh - 1. 00& 870, 000. 00 870, 000
&5 .13
L5 EEIEREEE () 20mx20m H=11m G& M) 1LY
2 b g - BIRTE By = BHoO(f ® # " =
B GEEMA) 20mx 20m, MVFHE
= 1.00 1, 476, 000. 00 1,476, 000
EEMLEE R GE£ M) 20m x 20m H=11m
= 1.00 2,904, 000. 00 2,904, 000
& Hi 1E%HeH - 1.00K 4,380, 000. 00 4,380, 000
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L EEBIERRE () 14mx 14m GREEH#M) 1E4Y
2 b g - BIRTE BT o = BHO(f ® W = " =
B IERERE fEESY L—2dd (BT 14 x 14m#R)
H 1.00 930, 000. 00 930, 000
& Hi 1E%HEN - 1. 00& 930, 000. 00 930, 000
&5 .15
B EAEBIEREE (2)  14nx 14m GREHM) 18 LY
2 b g - BIRTE BT H = BHO(f ® W E " =
EELEEE LD L—2dd (BT 14 x 14m#R)
= 1.00 820, 000. 00 820, 000
& Hi 1E%HEN - 1. 00& 820, 000. 00 820, 000
&5 .16
& BEBIEERE () 14mx 14m H=5m GEE#H) 14y
2 b g - BIRTE BT H = BHO(f ® W E " =
B (EEEHMA) 14mx 14m, MUFE
= 1.00 1, 134, 000. 00 1, 134, 000
EEMLEER (REEHEARF) 14m x 14m H=5m
= 1.00 924, 000. 00 924, 000
& Hi 1E%HeH - 1.00K 2,058, 000. 00 2,058, 000
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£ REERK ) SRR (RERE) 1LY
2 b g - BIRTE BT #H = BHoO(f ® W = " =
ZEEEMm FRP D 180PS#Y
B 17. 80 102, 470. 00 1,823,966 8.00H / 10H
MM EXENOY
% 0.50 1, 823, 966. 00 9,119
& B 1E%HeH - 1.00K 1, 833, 085. 00 1, 833, 085




Rifiz -/ \v7r—o

HINIEE R AT B (R IE MR - ath(-8m)RETE

&= .18
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2 b g - BIRTE By = B ® W = " =
ZEEEMm FRP D 180PS#Y
B 17. 80 102, 470. 00 1,823,966 8.00H / 10H
MR 2E0%
% 0.50 1, 823, 966. 00 9,119
& B 1YE%HeH - 1.00K 1, 833, 085. 00 1,833, 085
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2% REBEHRMQ) BKIEEH 14y
2 b g - BIRTE By = B ® W E " =
ZEEEMm FRP D 180PS#Y
B 2.70 89, 979. 00 242,943 6.00H / 8H
MR ELNOY
% 0.50 242, 943. 00 1,214
& B 1E%HeH - 1.00K 244,157. 00 244,157
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L RE 1BHY (28 =)
2 b g - BIRTE By = B ® W E " =
REE S4 kY 2L
B 1.00 3,079.00 3,079/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 47,572.00 47,572 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 1.00 29, 600. 00 29, 600
MR 2E0%
% 1.00 150, 951. 00 1,509
& B 1YEZRES - 28. 004 = 5,445.00 152, 460
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&% BKEE —REE 1B%HY (1200.6m2)
2 b g - BIRTE By = B O ® # " =
Bk D 180PSE! 3~5tH
B 1.00 153, 089. 00 153, 089 8H
HEEEE Bk 203!
B 1.00 19, 305. 00 19, 305
MR 2E0%
% 3.00 172, 394.00 5 171
& B YEZERES - 1,200.60m 2 147.00 177, 565
&5 .22
25 MESERK 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 0.50 45, 700. 00 22,850
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
MR ELNOY
% 0.50 93, 550. 00 467
& B 1E%HeH - 1.00K 94,017.00 94,017
&5 .23
2% EBHRRA 1LY
2 b g - BIRTE By = B Ol ® # " =
EBHRERERE
= 1.00 73, 000. 00 73, 000
& Hi 1E%Heh - 1.00K 73, 000. 00 73, 000
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&5 KERERE () U5 T8EM EELHEA) $AD5. 5m3 x 15£ 1LY
2 b g - BIRTE BT = it ® W = & &
KEREF
= 1.00 10, 682. 00 10, 682
& Hi 1YE%HeRH 1,00 10, 682. 00 10, 682
&5 .2
£ KEREH () FHMLIEM ME50m3 (FHR) x 28 1LY
2 b g - BIRTE BT = it ® W E & &
KEREF
= 1.00 9, 090. 00 9,090
& Hi 1E%HeH - 1.00K 9, 090. 00 9, 090
&S .26
£ KEREF 3) Bk DISOPSE 3~5tfm x4 1syy
2 b g - BIRTE BT = it ® W E ik &
KEREF
= 1.00 18,181.00 18, 181
& Hi 1E%HeH - 1.00K 18,181.00 18, 181
&5 .27
£ EERER BKEx44 XY
2 b g - BIRTE BT = it ® W = & &
SEREH
= 1.00 10, 909. 00 10, 909
& Hi 1E%HeH - 1.00K 10, 909. 00 10, 909
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